Fork and Release Handle for Cyclical Lever Drive

Front Rigging shown

for FORK

reference only




Fork and Release Handle for Cyclical Lever Drive

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 47565X057 Bushing (7/32 x 3/8 x 11/32") 1 1
2 G 1033305-NLA | NLA - Handle, Release, Chrome - Right 1 1
2 G 1033306-NLA | NLA - Handle, Release, Chrome - Left 1 1
3 40163X008 Screw, Phillips Pan Head (#10-32 x 11/16") 1 1
4 40163X002 Screw, Phillips Round Head (#10-32 x 1/2") 1 1
5 40157X015-NLA | NLA - Washer, Nylon (9/16 x 1 x 5/8") 1 1
6 67005X000 Rivnut (#10-32) 1 1
7 1008935 Spring, Release - Right 1 1
7 1008936 Spring, Release - Left 1 1
8 AE 1087350 Attachment, Steering, Black - Right 1 1
8 AE 1087352-NLA | NLA - Attachment, Steering, Black - Left 1 1
8 B,F 1087368-NLA | NLA - Attachment, Steering, Black - Right 1 1
8 B,F 1087369-NLA | NLA - Attachment, Steering, Black - Left 1 1
9 1006773-NLA | NLA - Screw, Socket Button Head (1/4-20 x 1/2") 1 2
10 1087449-NLA | NLA - Spring, Torsion - Right 1 1
10 1087450-NLA | NLA - Spring, Torsion - Left 1 1
11 1087715-NLA | NLA - Fork and Stem (6") 1 1
11 1087716-NLA | NLA - Fork and Stem (8") 1 1
12 C,DH 1087467 Fork Assembly - Right (6") 1 1
12 C,DH 1087468 Fork Assembly - Left (6") 1 1
12 C,DH 1087469 Fork Assembly - Right (8") 1 1
12 C,D,H 1087470 Fork Assembly - Left (8") 1 1
12 C.D,l 1194268 Fork Assembly - Right (6") 1 1
12 C,D| 1194297 Fork Assembly - Left (6") 1 1
12 C,D,l 1194355 Fork Assembly - Right (8") 1 1
12 C,D,|l 1194357 Fork Assembly - Left (8") 1 1
NOTE: A-6"Fork
B - 8" Fork
C - Fork; 7 and 9 Spoke CLD
D - Includes Items 8-11
E - Used on 6" Fork

F - Used on 8" Fork
G - ltem #2 is not available for sale in 71P Silver Vein frame finish.
H - Before 10/12/16.
| - After 10/11/16.




